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Candidates must write the Q.P. Code on

the title page of the answer-book.

qe / NOTE :

(1)

(i1)

(iii)

(iv)

(v)

AT ST B W foh 39 TA-99 § gfgd I8 23 F |
Please check that this question paper contains 23 printed pages.

FUAT = H A Toh 30 IH-9T H 38T B |
Please check that this question paper contains 38 questions.

-9 § Qi 819 1 AR T U w-9F i i wlenell IT-gieaent % @98 W
fod |

Q.P. Code given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

FHUAT T HT 3T TG & HH 8 Uge, IW-YIEaeh! H T9 T HHTh AT
ford |

Please write down the serial number of the question in the
answer-book before attempting it.

™ -9 H YA o forw 15 fire o wma fen e R 1 yeam @ faawn qats @
10.15 &1 ToRIT STQT | 10.15 S § 10.30 51 Toh BT hadl JTA-93 sl Teil 3K 34
3rafy o SNH o IT-YRhT T g ITR & fora |

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on the
answer-book during this period.
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MATHEMATICS (BASIC) =2
H4iRa &5 : 3 Tqve HlEgHaH 379 : 80
Time allowed : 3 hours Maximum Marks : 80
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T 3397 :
HETfeTiad 39T @1 Sga araer] & T 3R 371 T & 9T Sy
(i) 59 Y0-Y7 4 38 ¥ & | @4t 3o e & |

(i) IEIH-TTGIad @USI H [@9IGid 86— &, @, T, 0T & /

(iii) @S & H Y97 §&I1 18 18 7% aglasedid (MCQ) @97 ¥97 &&I7 19 TG 20
STBYT T T SERT 1 3% & 97 2 |

(iv) @S W H 97 q&IT21 @ 25 7% 3717 TG-ITIT (VSA) ¥HR & 2 37l & J97 3 |

(v) WU TH J97 G&I7 26 T 31 T TG-FTHIT (SA) TR & 3 37H] & J97 8 |

(i) TUETH Y97 G&I732 & 35 7 4-F70F (LA) IHR & 5 3H] & Jo7 & /

(vii) U & 4 97 G&IT 36 G 38 Th JHU 37eTT7 ERT 4 37H] & J97 & | i
GHITT 37T H 3TTRb [AHeT2 37h] & Jo7 4 1297 737 8 |

(viii) Y97-99 # GHT faeheq 757 197 791 & | JEfd, @v8 @ 3 2 Y991 H, GUS T & 2 FoI
4, @8 g &2 Yo 7 a9 @8 & & 3 Y97 H aR® ladhcq &1 Jraer 1731 77

g/

(ix) & STaGvIH &1 L= Pl G975T | &l avT® & m = % iore, g =79

7 1ea1 17 81 |
(x)  FoPpic & I9IIT afcdd & |

@ug <h

39 @IS H Fglasheqid 97 8, 974 I J97 1 3% H1 & | 20x1=20
1.  HE3A 40 3N 30 % fIC HCF x LCM @ :

A) 12 (B) 120

(C) 1200 (D) 40
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(it)
(ii1)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Questions no. 1 to 18 are Multiple Choice Questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are Very Short Answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are Short Answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are Long Answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

: : 22 : :
Draw neat diagrams wherever required. Take 1 = - wherever required, if not

stated.

Use of calculator is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each. 20x1=20

1.

HCF x LCM for the numbers 40 and 30 is :
A 12 B) 120
(C) 1200 (D) 40

15-430/5/1 P.T.O.
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oy
feema aefiehtor x2 + 3x - 10=0Fh A & :
(A) 5,2 (B) -5,2
C) 5,-2 D) -5,-2

e Tfiertol TH 2kx + 5y = 7, 6x + 5y = 11 I hedl Teh (g g B,
Ife

(A k=#3 B) k#-3
1 1
(®) k;tg (D) k;zfs—g

Ii¢ Tsh SRARAT Sie o1 HIed 3R dgoish hAl: 28 3N 16 &, dl 36 &7
HIETh 8

(A) 22 (B) 235
C) 24 (D) 245

Teh I Ueh SR @M T | Toh {90 S9TST G961 UTed 8H <hl JTRIehdT a1
2?

(A) (B)

(C) (D)

Wi o
Bl w|Hm

3y fr oo % U BreuEve H 4, 99 F Sk B % 3, @ froaEre
T HelT IV 7

(A) 30° (B) 45°

(C) 60° (D)  90°

TEAT 424 T AT UGS 8 :
(A) 2x53x4 B 2x53x2
(C) 23x53 (D) 24x53

15-430/5/1
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The roots of the quadratic equation x2+ 3x—10=0 are
(A 5,2 B) -5,2

The pair of linear equations 2kx + 5y = 7, 6x + 5y = 11 have a unique

solution, if

(A) k%3 B) k#-3
1 1
(C) k;tg (D) kq&—g

If the mean and mode of a frequency distribution are 28 and 16

respectively, then its median is :
(A) 22 B) 235
C) 24 (D) 245

A die is rolled once. What is the probability of getting an odd prime

number ?
1 1
(A) o (B) 3
2 3
(C) 3 (D) 1

If the area of a sector of a circle is % of the area of the circle, then the

central angle of the sector is :
(A) 30° (B) 45°
(C) 60° (D)  90°

Prime factorisation of 424 is :

(A) 2x53x4 (B) 2x53x2

(C) 23x53 (D) 24x53

15-430/5/1 P.T.O.
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11.

12.

13.
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Ife x Th qUT AT 8, Tl x ok {ohH A i DIgHT 8 T 37eh T THTH BT © ?

(A 6 B 4
C 2 D) 0

SHH T @S Th US H BRT 7 m Tl 7, T I B A 45° 7 | U i
SR

A 73 m ®B) gﬁm

(C) 7m (D) 35m

et

cot2 0 cos2 0

A 1 B) 5
(C) -5 (D) O

IfE tan2 0 = 3, &1 0 Teh =[J IV &, Al O H AN § :
(A) 30° (B) 60°
C) 0° (D) 45°

120m|§|wa|31@@acﬁﬁ@dlblﬁd®llé 10ncm% I%Wﬁ%a@‘ﬂ
ST hgId hivl AT il 8, 98 & ¢

(A)  120° B) 6°
(C) 75° (D)  150°

Ife T 99 I 3t BreTedt & s &1 o 130° 2, @ 7 et %l w o
TR X@ratt o offe 1 IR

(A) 50° (B) 60°

(C) 90° (D) 130°

15-430/5/1
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8. If x is a whole number, then 8% ends with an even digit, except for which
value of x ?
(A) 6 B 4
C 2 (D) 0
9. A tree casts a shadow 7 m long on the ground, when the angle of
elevation of the Sun is 45°. The height of the tree is :
A) 73 m (B) %ﬁ m
(C) Tm (D) 35m
10. 52 - 52 is equal to :
cot“® cos“0
A 1 B) 5
C) -5 (D) 0

11. If tan? 6 = 3, where 0 is an acute angle, then the value of 0 is :
(A) 30° (B) 60°
(O (D) 45°

12. The length of an arc of a circle with radius 12 cm is 10n cm. The central

angle subtended by this arc at the centre, is :
(A)  120° (B) 6°
(C) 75° (D) 150°

13. If the angle between the two radii of a circle is 130°, then the angle
between the tangents at the ends of these radii, is :

(A)  50° (B) 60°

C) 90° (D)  130°

15-430/5/1 P.T.O.
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16.
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fgamd @Hiehtol x2 — 4x + 3 = 0 1 fafahert (discriminant) ® :

(A) 28 (B) -8

C) 4 (D) 2

feigati A~ 2, 8) 3R B(- 6, 4) %! WA a1t T@REE AB 1 A6 &
A (2,6) B)  (-4,12)

(C) (-4,6) D) (4,-6)

g O 9l Id W oTel foig A 9 @ T9Ri3@d AP 3T AQ TER 90° % i T
g 7 | A T TRt i S 2 em 7, A g BT R

(A) 4cm (B) 2cm
(C)  2V2 em (D) 1cm
Jg fem T 2 f6 AABC~ADEF. 9 L A=55°, /E=45°%, A1 L C® :

(A)  80° (B)  90°

(C) 55° (D)  45°

15-430/5/1
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The discriminant of the quadratic equation x2—4x+3 =0 is:
(A) 28 B) -8

Cc 4 (D) 2

The mid-point of the line segment AB joining A(- 2, 8) and B(- 6, 4) is :
A (2,6) B) (—4,12)

(C) (-4,6) (D) (4,-6)

AP and AQ are tangents drawn from an external point A to a circle with
centre O and inclined to each other at an angle of 90°. If the length of

each tangent is 2 cm, then the radius of the circle is :

(A) 4cm (B) 2cm

(C) 242 em (D) 1cm

It is given that A ABC ~A DEF. If #/ A =55°, Z/ E =45°, then £ C is :
(A) 80° B) 90°

(C) 55° (D)  45°

15-430/5/1 P.T.O.
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18. & T 3pfd H, B ABC H, DE || BC 2 | A AD = 2x cm,

AE=(x+2)cm,DB=4cm,EC=3cm%,?ﬁxWIﬂ:{%:

A 3 B) 2
(C) 6 (D) 4

o7 G&IT 19 37K 20 37FT Uq a@ ed F97 8 | § F97 1€ 70 3 577 v &1
SIYFHIT (A) T TR B 7% (R) RT 3715 13697 7737 & | 37 Jo71 & @& IR 14 157
7T Figl (A), (B), (C) 3% (D) & @ gaht e |
(A)  IAHHAT (A) 3N T (R) I ¥&1 8 AR deh (R), 3R (A) i @&l
ST LT 8 |

(B) MM (A) 3R o (R) GHI &M@l 8§, Tq b (R), 3THAT (A) i @&l
TS 7gT Hdl 7 |

(C) AMHeH (A) T& 8, Wrg e (R) TeId & |

(D) AMYHeH (A) TeId &, 9Gg % (R) T& 7 |

19. 3YFYT(A): TH UTHT Sehd W, TEAT 8 YTed B <l TTRIhaT I (0) 7 |

7% (R) : Th STES HeAT hl TTrehdl I (0) BI<AT B |

20. IYFHIT(A): TAFR UG 5,1,-3,—7.. 1 G943 |

7% (R) : AR G a;, ag, a3 .., a, P @ IR UH B 3

d=an—an_1ﬁ |

15-430/5/1 Page 10
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18. In the given figure, in A ABC, DE || BC. If AD = 2x ¢cm, AE = (x + 2) cm,
DB =4 c¢cm, EC = 3 cm, then the value of x is :

(A)

()

3 B) 2

6 (D) 4

Questions number 19 and 20 are Assertion and Reason based questions. Two

statements are given, one labelled as Assertion (A) and the other is labelled as

Reason (R). Select the correct answer to these questions from the codes (A), (B),
(C) and (D) as given below.

(A)

(B)

()
(D)

Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

Assertion (A) is true, but Reason (R) is false.
Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : The probability of getting number 8 on rolling a die is

zero (0).

Reason (R): The probability of an impossible event is zero (0).

20. Assertion (A) : Common difference of the A.P. 5,1,-3,—-7 .... is 4.

Reason (R): Common difference of the A.P. a,, a,, a5 ...., a,, is obtained

15-430/5/1

byd=a,—-a__;.
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Qs @
39 GUZ T 37ld TG-IFI% (VSA) FHR & J97 &, o8 I3 &2 37 5 | 5x2=10

21.  sin2 30° + cos2 45° — cos 0° . tan 45° ST HIF FATd hIT |

22. (1) 98 IUE ;@ i fFEd fag (3, y), ogati (- 2, — 5) 3R (6, 3)
fireT ol TarEE & fomfSa st 8 | y 1 |/ o} 39 il |

AT

(b) y-31& W 38 fag &I T HIC ST f9gati A6, 5) 3R B(- 4, 3) & F9H
KU

23. H&fﬁaﬁaﬁwm?—x—howqan@%%,aﬁkwmm?ﬁﬁm

24. Th fag A ¥, S TH 910 % g ¥ 10 cm G W B, g0 W W= 73 T=i-@r 6
@S 6 cm® | g9 i s ma Hifw |

25. (a) 9 o, pTgEma 9898 2x2 + Tx + 5% IR &, Al o + 2 + af H HH
F1d T |

AT

(b) afg feema ag9a 6x2 + 37x — (p — 2) T Th IAeh, T T I FGHA

2, dl p & g Td it |

15-430/5/1 Page 12
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SECTION B

This section comprises Very Short Answer (VSA) type questions of 2 marks
each. 5x2=10

21. Evaluate : sin? 30° + cos? 45° — cos 0° . tan 45°

22. (a) Find the ratio in which the point (3, y), divides the line segment
joining the points (- 2, — 5) and (6, 3). Also, find the value of y.

OR

(b)  Find a point on y-axis which is equidistant from the points A(6, 5)
and B(— 4, 3).

23. If % is a root of the quadratic equation kx? — x — 2 = 0, then find the

value of k.

24, The length of a tangent drawn to a circle from a point A, at a distance of

10 cm from the centre of the circle, is 6 cm. Find the radius of the circle.

25. (a) If o, P are zeroes of the quadratic polynomial 2x2 + 7x + 5, then

find the value of o2 + B2 + of.

OR

(b)  If one zero of the quadratic polynomial 6x2 + 837x — (p — 2) is

reciprocal of the other, then find the value of p.

15-430/5/1 Page 13 P.T.O.
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Gug T
39 GUZ § TY-F0% (SA) FBR & F97 8, 1978 Jcd% & 3 3% 3 | 6x3=18
26. fug HIST % 6 + 32 T iy e g, sefe fen T g &6 V2 o
SNET G 2 |
27. TgaTd 9gUG 6x2 — Tx — 3 % I TG hISTT 3TN I qAT FFIG o UThI
EEEXECEIR IR RIS
28. ﬁ@ﬁﬁ?:(sin6+cosec 0)2 + (cos 0 + sec 0)2 =7 + tan2 0 + cot2 0
29. (a) g Hifou for fre g < wfora TR =gys T9=gys graT & |
AT
(b) Tag e fr forelt s fog @ 99 w Efi=h 7 woei-XEneT i et
ERE G
30. (a) 20 m Y3 91 Ush GHETE FYSTHR HEM % Ueh 4 T Teh 18 %l 14 m
ot W § 97y four w8 | AT % 3T 9N R §9%d J1d shifo @
HIgT =/ 8] Hehdl 8 |
AT
(b) @@ﬁﬁ%‘ﬁﬁéﬁmMcm%Iwmﬁgﬁm
8:00 am 3R 8:05 am o = o THI H ud &% 1 hitT |
31. famgall A5, — 3) 3R B(- 4, 3) &l fHaM a1 T@T@s 1 TH-BWING T
formgati & fHame S i |
15-430/5/1
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SECTION C

This section comprises Short Answer (SA) type questions of 3 marks each. 6x3=18

26. Prove that 6 + 3+/2 is an irrational number, given that /2 is an

irrational number.

27. Find the zeroes of the quadratic polynomial 6x% — 7x — 3 and verify the

relationship between the zeroes and the coefficients of the polynomial.
28.  Prove that : (sin 0 + cosec 0)Z + (cos 0 + sec 0)2 = 7 + tan? 0 + cot? 0.
29. (a) Prove that the parallelogram circumscribing a circle is a rhombus.
OR

(b)  Prove that the lengths of the tangents drawn from an external

point to a circle are equal.

30. (a) A horse is tied with a 14 m long rope at one corner of an
equilateral triangular field having side 20 m. Find the area of the

field where the horse cannot graze.
OR

(b)  The length of the minute hand of a clock is 14 cm. Find the area
swept by the minute hand between 8:00 am and 8:05 am.

31. Find the coordinates of the points of trisection of the line segment joining

the points A(5, — 3) and B(— 4, 3).

15-430/5/1 Page 15 P.T.O.
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Qs ¥
39 GUS 7 -ITIT (LA) YR & I97 &, 578 Jed%b & 5 37% & / 4x5=20
32. (a) U RGAMT Th 7 cm B39 % 3% o R &1 7 S 99H B & T
FM T ANG 8 | 30 faeiy 6 $ Sa15 31 cm 7 | 39 Raaiq &
IS &F%A 1 HIRT |
eI
(b) RSl ok Teh 3H dcd o Tdh L T Teh LMl it Hehiad |

ARGl I Th aFg S8 Sl g | Jlg S hl Sa5 15 cm A 3Toh
YR Sl BT 42 cm B, T 389 918 T8 9% H1 HA TS &% A1d
I |

83. QI SARA <hl T 3T 1 I 9 : 7 7 3T ITeh @Al ol I 4:3 7 |
Ife gedsh =t Ufd HEH § T 2,000 ST AT 7, 1 3kl HIfHh 3T FIG

i |

34. (a)

(b)

15-430/5/1

& BIYS ABC sl ¢ AB, BC 97 WIfE¥shl AD T 3 BYs PQR
$I pAI: YIS PQ, QR YT HWifewsh PM % HWTUT & | g3 TR
AABC~APQRZ |

3t
forg <hifsry fop afe foreh B 1 woh ot & Twiat o= & yeiredl ol
i fomgatl W uf=aad * & fie we W ©i=t S, @ 3= 3§
yoITd Ueh &1 1T A feanford &t § |
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SECTION D

This section comprises Long Answer (LA) type questions of 5 marks each. 4x5=20

32. (a) A toy is in the form of a cone of radius 7 cm mounted on a
hemisphere of same radius. The total height of the toy is 31 cm.
Find the surface area of the toy.

OR

(b) A wooden article was made by scooping out a hemisphere from
each end of a solid cylinder. If the height of the cylinder is 15 cm
and its base is of radius 4:2 cm, then find the total surface area of
the article.

33. The ratio of monthly incomes of two persons is 9 : 7 and the ratio of their
expenditures is 4 : 3. If each of them manages to save ¥ 2,000 per month,

then find their monthly incomes.

34. (a) Sides AB, BC and median AD of A ABC are respectively
proportional to sides PQ, QR and median PM of A PQR. Show that
A ABC ~ A PQR.

OR

(b)  Prove that if a line is drawn parallel to one side of a triangle to
intersect the other two sides at distinct points, then the other two

sides are divided in the same ratio.

15-430/5/1 Page 17 P.T.O.
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35. fr=faRea sweamar e aneht foreft Argg & 70 IuwEeTt i fasteft i ATl
WA STl B | $7 3T(hSI hl AL FTd hIfoT |

g@‘*@@gj S 6 T
65 — 85 7
85 -105 8
105 - 125 7
125 — 145 20
145 — 165 14
165 — 185 9
185 — 205 5
wus &

3G @V 4 3 YU HeJIT HTEIRT I97 & 1578 Jcdeb & 4 3% & | 3x4=12

TERIOT ALTT - 1

36. TR GvET : T o T 9d U Ig U1 71 Th 36 a9 & folu, &Fh oA
AT | 51% IREW T s s=1 &1 AT, 20% YRER § Tsh =1, 19% IR
T Qo= 7% INa 1 oF o= 3R 3% IRam 0 =) a1 31fees 5= o |

T AR IgesdT AT I 7 |

15-430/5/1 Page 18



35. The following frequency distribution table

OO
[CEEE

gives

the

monthly

consumption of electricity of 70 consumers of a locality. Find the median

of the data.

Monthly consumption Number of
(in units) consumers

65 — 85 7

85 — 105 8

105 - 125 7

125 — 145 20

145 — 165 14

165 — 185 9

185 — 205 5
SECTION E

This section comprises 3 case study based questions of 4 marks each.

Case Study -1

Ix4=12

36. Family structure : In a recent survey of this year, 51% of the families in
the United States of America had no children, 20% had one child, 19%
had two children, 7% had three children and 3% had four or more

children.

A family is selected at random.

15-430/5/1
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3T AR o YR R, HHfTRad T o I ST
(i) g TCUNER | g AT A S o g ohl JTRIhal [d it |
(i) 9 U UNER # U @ ATk S o g Sl ITRiekdT FTd i |

(i) (a) g4 TCURGR § A & H = b A sl TTIhal A1 hIT |
AAAT

(b) g T YNGR H q & ATk Sl b I ! JTTehdl T hiTorg |

TRUT ST — 2
37. Gud ! H 4 Tk % Sdl hl GHME Y& hl | Sl hl TGRIA HH (1T I
ugell fth § 3 SISt 9d W, g Uik | 5 A€l Sd W, dEd 9ith § 7 et S
W T |

3TYh SR o YR R, HHfTRad T o I ST

(i) Bl Uk § fohad SIS S W & ?

(i)  Ugel 3R Bt ufern § Tt St <t Sifeat § fopam iR B 2

(iii) (a) @ <hIfTT TBelt 15 Ufral # For foraft Sl i Shifeat @t 8
& |

AUAT
(b) ARG =l uftr H JGRI Sl hl JAeh el T 500 hl HhiFd T

‘Forsht U for@n 2, @t 9a i o6 gra i Af Fo fohat gma
Ha1 ot Afg 98 7= o Smu fop <veft Ut § it S oot
Sfeat foae It 3

15-430/5/1 Page 20
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Based on the above information, answer the following questions :
(1) Find the probability that the selected family has two or three

children. 1

(i1) Find the probability that the selected family has more than one
child. 1

(iii)) (a) Find the probability that the selected family has less than
three children. 2

OR

(b)  Find the probability that the selected family has more than

two children. 2

Case Study - 2

37. Sumant’s mother started a new shoe shop. To display the shoes, she put
3 pairs of shoes in the 15t row, 5 pairs in the 224 row, 7 pairs in the 3td
row and so on.

Based on the above information, answer the following questions :

(1) How many pairs of shoes are displayed in the 6t row ? 1
(i)  What is the difference of pairs of shoes in the 15t row and the
6th row ? 1
(iii) (a) Find the total number of pairs of shoes displayed in the first
15 rows. 2
OR

(b)  If the pairs of shoes displayed in the 4! row are ‘on sale’ at
price of ¥ 500 for each pair, then find the total amount
(money) earned by Sumant’s mother if all shoes displayed in
the 4th row are sold out. 2

15-430/5/1 Page 21 P.T.O.
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Th0T 3TETTAT - 3

-3 S8 o & TFY THaA S T 3R 40 m I g W @S § | aHi
GHI I T TH b SW U g @H o A< T I dRi gl Hgw fean swan
2 | T WA (coupling) ! folg C W @1 T 2, T&l al AR 1€ Fd & (S
HTep(d 4 fe@mn T R) |

39YH THHN o IR R, Ffarfad weai o 3w G
(i) EH ABHl ST Fd T |

(i) ©Y PQh JuE I hitaT |

(i) (a) I @Y PQ o T¥@X =1, @Y AB & ¥ ®, IT¥F S0 30° 3,
dl g8t BQ S =i |

AT

(b) I JHF (coupling) FHH & 20 m I =T W &, a1 DI @H AB
Y qR o gAY I fopaft g w R 2
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Case Study -3

38. Two poles of different heights stand on level ground and at a distance of
40 m. Both poles are supported by wires attached from the top of each
pole to the bottom of the other. A coupling is placed at point C, where the
two wires cross (as shown in the figure).

Based on the above information, answer the following questions :
(1) Find the height of pole AB.
(ii))  Find the height of pole PQ.

(iii) (a) If the angle of elevation of the top of the pole PQ from the
top of the pole AB is 30°, find the distance BQ.

OR

(b)  If the coupling is at a height of 20 m from the ground, how
far down the wire from the smaller pole AB is the coupling ?

15-430/5/1 Page 23





